£920—3713]

Make sure wires are connected (not frayed) at tarp plug & at all other connections

——— POWER FROM BATTERY—

TR-1793
40 AMP
BREAKER

touch wires, if tarp works,

breaker is bad

K=39 KIT

Remove one set of wires, reconnect on other post, will open or close, if you change wires
around, should go the opposite way, if it doesn't work, relay is bad

TK-0803R

I:||

%

= ]
L | O=0=3
@ (&)

V]

Momentary switch

GROUND

s O JOENERS)
= ]

T | =

TR-1067-CB TR-055063

TK-6858

REVISIONS

DATE_ [SM. DESCRIPTION AUTHORITY
[o ]
12v
| GEAR
| MOTOR
‘ o
| 060,
I
‘ 3
I
I
0
GE® |
I
OUNT TO TOP OF
5TH WHEEL PLATE
71 TR-055063 RECEPTACLE COVER — [—
6 4 P-.25000LN 1/4" OVAL LOCKING NUT - —
5 | 4 | P-G5-.2500x1.0000 1/& x 1" LG. HEX HEAD BOLT — [ —
4 | 8 P—.2500FW 1/4 FENDER WASHER — | —
3 1 26183 TARP/7—WAY FORMED MOUNTING PLATE - —
2 |1 TK=0BO3R FEMALE 2 PRONG RECEPTICLE — [—
1 1 K=39 TRACTOR TARP WIRING KIT w/ MOTOR REVERSING RELAY| —— | —
ITEM | QTY | PART NUMBER DESCRIPTION MATL | WT

This drawing and the design It covers are the
reproduced copied loaned exhibited nor used except in the fimited way ond private uss permi

of SMITHCO. They are loaned

TR TR ST T T T

DRAWN BY: DANA R.

CHECKED BY:

DO NOT SCALE PRINT

UNLESS OTHERWISE SPECIFIED: +1/16

DMENSIONS ARE IN_INCHES
TOLERANCES ON:

WO (>

3 PLACE DEC. | 2 PLACE DEC. | ANGLES

TITLE:
TRAILER TARP
WIRING DIAGRAM

[+0°30°'|SHEET 1

SIDE=DUMP_TRAILER (AERO)
SCALE: 1/5 [DATE: 3/13/2012
oF 1 [rev. —— ELE—0263



AutoCAD SHX Text
ELE-0263

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
DRAWN BY:

AutoCAD SHX Text
3 PLACE DEC.

AutoCAD SHX Text
CHECKED BY:

AutoCAD SHX Text
UNLESS OTHERWISE SPECIFIED:

AutoCAD SHX Text
reproduced copied loaned exhibited nor used except in the limited way and private use permitted by any written consent given by the lender to borrower.

AutoCAD SHX Text
This drawing and the design it covers are the property of SMITHCO.  They are loaned merely and on the borrower's expressed agreement that they will not be

AutoCAD SHX Text
SIDE-DUMP TRAILERS

AutoCAD SHX Text
SmithCo

AutoCAD SHX Text
TOLERANCES ON:

AutoCAD SHX Text
ANGLES

AutoCAD SHX Text
2 PLACE DEC.

AutoCAD SHX Text
SHEET     OF

AutoCAD SHX Text
SCALE:

AutoCAD SHX Text
PART NUMBER

AutoCAD SHX Text
DIMENSIONS ARE IN INCHES

AutoCAD SHX Text
DO %%uNOT%%u SCALE PRINT

AutoCAD SHX Text
QTY

AutoCAD SHX Text
REV.

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
TITLE:

AutoCAD SHX Text
DATE

AutoCAD SHX Text
SYM.

AutoCAD SHX Text
DESCRIPTION

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
AUTHORITY

AutoCAD SHX Text
DESCRIPTION

AutoCAD SHX Text
MAT'L

AutoCAD SHX Text
WT

AutoCAD SHX Text
ELE-0263

AutoCAD SHX Text
TRAILER TARP 

AutoCAD SHX Text
WIRING DIAGRAM

AutoCAD SHX Text
(AERO)

AutoCAD SHX Text
1/5

AutoCAD SHX Text
3/13/2012

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
--

AutoCAD SHX Text
DANA R.

AutoCAD SHX Text
%%p1/16

AutoCAD SHX Text
%%p0%%d30'

AutoCAD SHX Text
--

AutoCAD SHX Text
--

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
K-39

AutoCAD SHX Text
TRACTOR TARP WIRING KIT w/ MOTOR REVERSING RELAY

AutoCAD SHX Text
--

AutoCAD SHX Text
--

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
TK-0803R

AutoCAD SHX Text
FEMALE 2 PRONG RECEPTICLE

AutoCAD SHX Text
--

AutoCAD SHX Text
--

AutoCAD SHX Text
12V

AutoCAD SHX Text
GEAR

AutoCAD SHX Text
MOTOR

AutoCAD SHX Text
POWER FROM BATTERY

AutoCAD SHX Text
GROUND

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
TR-1930

AutoCAD SHX Text
TR-1067-CB

AutoCAD SHX Text
TK-0803R

AutoCAD SHX Text
TK-6858

AutoCAD SHX Text
TR-1793 40 AMP BREAKER

AutoCAD SHX Text
1

AutoCAD SHX Text
TR-055063

AutoCAD SHX Text
3

AutoCAD SHX Text
3

AutoCAD SHX Text
1

AutoCAD SHX Text
26183

AutoCAD SHX Text
TARP/7-WAY FORMED MOUNTING PLATE

AutoCAD SHX Text
--

AutoCAD SHX Text
--

AutoCAD SHX Text
5

AutoCAD SHX Text
4

AutoCAD SHX Text
P-G5-.2500x1.0000

AutoCAD SHX Text
1/4" x 1" LG. HEX HEAD BOLT

AutoCAD SHX Text
--

AutoCAD SHX Text
--

AutoCAD SHX Text
6

AutoCAD SHX Text
4

AutoCAD SHX Text
P-.2500OLN

AutoCAD SHX Text
1/4" OVAL LOCKING NUT

AutoCAD SHX Text
--

AutoCAD SHX Text
--

AutoCAD SHX Text
4

AutoCAD SHX Text
8

AutoCAD SHX Text
P-.2500FW

AutoCAD SHX Text
1/4" FENDER WASHER

AutoCAD SHX Text
--

AutoCAD SHX Text
--

AutoCAD SHX Text
4

AutoCAD SHX Text
5

AutoCAD SHX Text
6

AutoCAD SHX Text
7

AutoCAD SHX Text
7

AutoCAD SHX Text
1

AutoCAD SHX Text
TR-055063

AutoCAD SHX Text
RECEPTACLE COVER

AutoCAD SHX Text
--

AutoCAD SHX Text
--

AutoCAD SHX Text
4

AutoCAD SHX Text
6

AutoCAD SHX Text
5

AutoCAD SHX Text
K-39 KIT

AutoCAD SHX Text
MOUNT TO TOP OF  5TH WHEEL PLATE

touch wires, if tarp works, 
breaker is bad

Remove one set of wires, reconnect on other post, will open or close, if you change wires
around, should go the opposite way, if it doesn't work, relay is bad

Make sure wires are connected (not frayed) at tarp plug & at all other connections

Momentary switch


	Sheets and Views
	Model




